o
[N

< o cot(y) >
o
=
a1

................................................

<0 @> (rad)
o
o [
[ [¢)]

3 -2 -1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

=)
|

w

N
I

=

o

—s=— DQM_V0001_R000000001__Global__CMSSW_ckfnocut3_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocut3_RECO

100r

80F------re-cfeefee A =z f<10] SeERERREEEEE TP | SEPEFRPEPF | H TP SEPRES PR PEPERES
E A E
T S R e I e o0 i |

< 00, > (M)

20:— --------------- Fel 20:— ----------------------------------
OF------t-- R SERRRRRE (0] EEEEPETEEE PEY | EEEPE TR I B BER FERER EPFPREPITS

10| e TEPEET PEY PR SERPRERS /10| ENREEREE PRSP | SREPRPEPY: | H EPE EREPE PR EPRRRRN

3 2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

(k=]

<0 / > (Y0
PP, > (70)
O = N W N O

23T T 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


